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1 Lh~L& - 4= 2.58 x 10 Ckgl (C  A~IRoU;)
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1 ttsn = 10-2 gaci~aRCans%  IJkg-‘l
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-1lckg  =

I

CmdtPluut&  ( D o s e  e q u i v a l e n t )

5 . 4  x 10- 1 8

1s8021  x lo-19

33.7 J kg - 1

33.1 Gy



1 0 7

REM = (rads)  (QF)
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El1t1-4  5.1 ~'IUCJ-I  QF n'-rvunCmu  ICdl'

1 sv = 100 rem

1 psv = 0.1 mrem

C6ldLmJLril (Svl  = CwdgnpmRw  ( rnrcl  . QF . N



tmLflOLra  = 1 dps

na9 = 3. 7xlo10c+s

I
I

t 5n~Cwt  rloc

k

tPu;t  k = 2.58~10 -4 w1 1

(n-1rlePaLba::n-2iw4wi  tLGdvGn77) Cmd~ngmnAw

I cl

C.fldLfiwL?il

Lnrci  = 1 Jki’ ar?;m  = 1 J k g- 1

ttr  w = la2Jk?j1 1Ia.l = 18’  Jk$

( Lfl&Jl) QF , fl
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1 rod  =  0 . 0 1  J / k g

=  1 0 0  Lb;n/nfu

* c no pU; (coulomb)



1 1 1



200

Raw74 100

2 0 0  - 7 0 0

200-3,000

>  3 , 0 0 0-

25

50

100

200 - 500

bll > 1 0 0

Gonads 2 0 0 - 3 0 0

500

2-SLLSR/GJS11Mc  -

Fetus 4 0 PeZvisua4d
(&418-48-iw)

1 , 0 0 0 Pe Zviser  04 td
(?bEmRn;ttsn)
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1 . o-ut:trsmlas~urlil  tiuwn 0  - 4 8  dabI-

?. s 3uz  trei4 f l a t e n t  p e r i o d )  2  - 3  Ewmw

3, cs~rdcingoin~r  (manifest illness) LwWl~d 3 - 6

4 . s-us&da  ( r e c o v e r y )  b+JAlhi  8 - 1 5
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nu2&Jelcsbn~&anidcmu 100%
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D = 5 (~-18)
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25 ~sm/B 0 - 6 t&law 0.06 0.65

3 d 0 .I1 1.20

10 d 0.30 3.40

> 20 c&d-N 1.30 15.00

8gSP

15 rtcm/gl

goS,

1.5 lLrrl//B

0.20

0.002

137cs 0 0.06 6

1 0  1rcmK 6 LWau 0.15 15 p ci

>20 mhw 1.15 115 p ci
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RI~IJ 5.5 Imiw&  ALI URZ  DAC (41

R-Jln& ALI

dL~l$shtllu ni rwiuls

3
H (;il) 3x109 3x10g axlo5

‘u

3H (AIS-) 2xlOlO

32P 2x10? 3x10? MO4

-lU~ticld  Lvblul4 cdl4 2x107 MO7 6~10~

gosP MO6 7x105 3x102

-lwgd srTio3 MO6 lx105 6x101

125I MO6 2x106 1x103

13lI MO6 2x106 7x102

IwGJ'urouiG 4x106 6~10~

137c8 4x106 6~10~ 2x103

226R, 7x104 2x104 MO1

23gPlA

-5anld&tFi::

lonrnnld~ 2x106 5x102 2x10-l

-“LUpAUlwq 2x105 2x102 8~10-~
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DAC = ALI/(ZOOO  x 60 x 0.92) &mm3

= AL1/2.4  x 10 3
Bqm

-3
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241AT?l 238u

u I ssrud18) Th  fsscud18)
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-3. wmrWivdm4na74  ‘l&r!

- 4 . w7ntCuQrw;au  I&n’ 3n
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R2d = D-J

= 45x (1001  2

(10J2

= 45000 a2aRLbdG;Liid/tfu.
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t  w a s h %d 2 uu. 4 uu. 7 8181. 1 2 alai

”
t t n a 1 2 4 7

‘181 4 7 1 4 2 4
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1 2 9

co.37 MBq

(10 UCil

< 37 w

(1 mCi)

-c 3.7 GQ

(100 7nCi)

-c 370 W

(10 Ci)

3.7-37 M?q

(100~  Ci-ImCi)

37 MBq  - 3.7 GBq

11 - 100 m&l

3.7-370 GBq

(100 mCi-10  Ci)

0.37-37 TBq

ilO-1000  c-ii

>37 LvBq

(1 mei)

> 3.7 GBq

(100 m&l

> 373 GBq

(10 Ci)

> 37 TBq

(1000 C-i)
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5.9.3  rnda~i~cw~rwa~~uoarwd,~wnc  (~ermotwrinescent  dosimeters)
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5 .10 wlq¶l

1.

2.

3.








